

**BRULE RIVER STATE FOREST BID RESULTS DECEMBER 17, 2019**

Sale Name	Tract #	Acres	Timber Type	Volume (tons)		Min Bid	Forester	Winning Bidder	Total Bid	Average All Species High Bid Price/Ton	Sold Volume
				4 Inch	Whole Tree						
Mindy	11-16	32	OX/Fir/MX	1340	0	\$13,966.00	Schulz	Kurilla	\$14,400.00	\$10.75	1340
Copper Camper	3-16	52	Aspen/Fir	2330	3230	\$17,071.00	Schulz	Northern Timber LLC	\$19,141.30	\$5.93	2330
Leppalla Leftover	18-18	64	Aspen/MX/Fir	2350	3460	\$24,196.00	Neitzel	no bid		\$0.00	
Jersett Pine	9-18	197	Red Pine	7035	9440	\$123,219.00	Schulz	Dalbeck	\$176,950.35	\$25.15	7035
Dennis Hatchery	6-18	42	Aspen/Fir	0	3300	\$22,905.00	Schulz	Hershey Biomass	\$23,595.00	\$7.15	3300
Night Ops	13-19	44	Aspen/Jack Pine	900	0	\$4,500.00	Schulz	Futurewood	\$18,495.00	\$20.55	900
Hilltop South	8-18	54	Aspen/Oak/MX/Red Pine	4000	0	\$62,970.00	Schulz	Ericson Logging	\$101,447.25	\$25.36	4000
Number Two	7-18	136	Red Pine	3400	0	\$73,100.00	Schulz	Dalbeck	\$96,526.00	\$28.39	3400
Puzzle Pieces	12-19	33	Red Pine/Aspen/Spruce	1620	0	\$25,721.00	Schulz/Jones	Hershey Biomass	\$26,730.00	\$16.50	1620
Triple A	2-18	81	MX/Aspen/Fir	2315	3300	\$15,906.00	Neitzel	no bid		\$0.00	
Highland Hall	4-19	29	Red Pine/Jack Pine	670	0	\$9,310.00	Neitzel	Dalbeck	\$13,050.00	\$19.48	670
Between the Fields	5-19	20	Aspen/MX/Fir	840	1340	\$7,906.00	Neitzel	no bid		\$0.00	
H and B	3-17	43	Aspen/MX/Fir	1385	1950	\$11,605.00	Neitzel	Hershey Biomass	\$ 11,797.50	\$8.52	1950
<b>Totals</b>		<b>827</b>		<b>28185</b>	<b>26020</b>	<b>\$412,375.00</b>		<b>Total Value</b>	<b>Sum of Bids \$502,132.40</b>	<b>Ave High Bid \$/Ton \$18.92</b>	<b>Total Tons Sold 26545</b>

Other DNR owned Properties											
Bayfield County											
Sale Name	Tract #	Acres	Timber Type	Volume (tons)		Min Bid	Forester	Winning Bidder	Total Bid	Average All Species High Bid Price/Ton	Sold Volume
				4 Inch	Whole Tree						
White River Fisheries Area <u>Rocky Run Salvage</u>	2-19	11	MX	405	NA	\$758.50	Klow	Kurilla Forest Products	\$2,025.00	\$5.00	405
White River Fisheries Area <u>South Fork Aspen</u>	3-19	44	Aspen/MX	2230	NA	\$19,153.00	Klow	Kurilla Forest Products	\$26,000.00	\$11.66	2230
White River Fisheries Area <u>Lake 2 BW Seed Tree</u>	1-18	27	MX/Birch	1075	NA	\$14,616.00	Klow	Kurilla Forest Products	\$14,652.50	\$13.63	1075
White River Fisheries Area Tract 3-18 <u>Lost Bans</u>	4-19	26	Aspen/MX/Fir	1550	NA	\$11,729.00	Klow	Kurilla Forest Products	\$12,810.00	\$8.26	1550
Bibon Swamp SNA <u>River Bobbin</u>	1-18	138	Aspen/MX	2485	NA	\$27,988.00	Sirrine	no bid		\$0.00	
South Shore LSFA <u>Homestead Pine</u>	1-19	10	Pine	700	NA	\$5,807.00	Oikarinen	no bid		\$0.00	
OSL <u>Pickerele Lake Landing</u>	1-18	4	Aspen/OX	142	NA	\$990.00	Coonen	Kris Rasmussen	\$1,013.00	\$7.13	142
OSL <u>Middle Eau Claire Lake Landing</u>	1-18	10	Aspen/PW	357	NA	\$3,041.00	Coonen	Northern Timber	\$4,587.00	\$12.85	357
Pattison Park <u>Patty Cake</u>	1-19	33	Aspen/Fir/PR	2105	NA	\$16,231.70	Kendall	Grindstone Enterprise	\$27,409.80	\$13.02	2105
NCT <u>State Line Sale</u>	1-18	46	Aspen/SW	1715	NA	\$13,317.50	Johnson	Derek Essen	\$14,491.75	\$8.45	1715
<b>Totals</b>		<b>349</b>		<b>TONS 11049</b>	<b>0</b>	<b>\$113,631.70</b>		<b>Total Value</b>	<b>Sum of Bids \$69,979.25</b>	<b>Ave High Bid \$/Ton \$7.31</b>	<b>Total Tons Sold 9579</b>































**White River Fisheries Area**

**Bid Results: December 17, 2019**

Tract 1-18      Lake 2 BW Seed Tree      Min. Bid:      \$14,616.00

**TONS**

Volume Species	4" top	560 MX	390 BW	80 Fir	45 Aspen
<b>Bidder</b>	<b>Total Bid \$</b>				
Kurilla Forest Products	\$ 14,652.50	\$ 15.00	\$ 12.25	\$ 10.00	\$ 15.00
	\$ -	\$ -	\$ -	\$ -	\$ -
	\$ -	\$ -	\$ -	\$ -	\$ -
	\$ -	\$ -	\$ -	\$ -	\$ -
	\$ -	\$ -	\$ -	\$ -	\$ -
	\$ -	\$ -	\$ -	\$ -	\$ -
	\$ -	\$ -	\$ -	\$ -	\$ -
	\$ -				
	\$ -				
	\$ -				
	\$ -				
	\$ -				





**South Shore Fisheries Area**  
**Bid Results: December 17, 2019**

Tract 1-19      Homestead Pine      Min. Bid:      \$5,807.00

**TONS**

Volume Species	4" top	370 White Pine	330 Red Pine
<b>Bidder</b>	<b>Total Bid \$</b>		
no bids	\$ -	\$ -	\$ -
	\$ -	\$ -	\$ -
	\$ -	\$ -	\$ -
	\$ -	\$ -	\$ -
	\$ -	\$ -	\$ -
	\$ -	\$ -	\$ -
	\$ -	\$ -	\$ -
	\$ -	\$ -	\$ -
	\$ -		
	\$ -		
	\$ -		

**Other State Land - Bayfield**

**Bid Results: December 17, 2019**

Tract 1-18      Pickerel Lake Landing      Min. Bid:      \$990.00

**TONS**

Volume Species	4" top	101 Aspen	41 OX
<b>Bidder</b>	<b>Total Bid \$</b>		
Kris Rasmussen	\$ 1,013.00	\$ 8.00	\$ 5.00
Kurilla Forest Products	\$ 992.50	\$ 8.00	\$ 4.50
Northern Timber LLC	\$ 990.40	\$ 9.40	\$ 1.00
	\$ -		
	\$ -		
	\$ -		
	\$ -	\$ -	\$ -
	\$ -	\$ -	\$ -
	\$ -		
	\$ -		
	\$ -		





